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QUESTION 1

A storage integrator is installing an HPE MSA 2042 into a remote location as a part of warehouse automation solution.
The site has no IT staff and warehouse employees will not be granted access to the location where the MSA will be
installed. The customer is concerned about the inability to control individual AC power outlets connected to the MSA. 

Which HPE power delivery equipment can be added to the solution to address these requirements? (Choose two.) 

A. HPE G2 Metered and Switched PDU 

B. HPE Standard Series G2 Basic PDU 

C. HPE iPDU 

D. HPE G2 Metered PDU 

Correct Answer: CD 

 

QUESTION 2

Which command can be used to display license information on an HPE StoreOnce system? 

A. license show 

B. info license 

C. license display 

D. show licenses 

Correct Answer: A 

Reference: https://developer.hpe.com/blog/using-the-ssmccli-hpe-3par-ansible-module-with-virtual-domains 

 

QUESTION 3

A storage integrator is planning an HPE MSA Storage installation. 

What needs to be taken into consideration when implementing a SAS connected model? 

A. SAS expander or a SAS switch is supported only with non-redundant paths. 

B. SAS expander or a SAS switch is required if eight or more servers are connected. 

C. Up to four servers with redundant paths can be connected. 

D. Up to four servers with non-redundant paths can be connected. 

Correct Answer: C 

Reference: https://support.hpe.com/hpsc/doc/public/display?docId=emr_na-
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a00028199en_usanddocLocale=en_US#N10010 

 

QUESTION 4

An HPE StoreVirtual 3200 solution specifies 802.3ad (LACP) bonding is required for the network interfaces. What must
be considered when implementing this solution? 

A. Only one of the chosen network interfaces will actively pass traffic. 

B. The network interfaces chosen may operate at the different speeds. 

C. Additional switch configuration will be necessary. 

D. The network interfaces chosen must be cabled to different switches. 

Correct Answer: C 

HPE StoreVirtual 3200 provides three options for the teaming/bonding of the network ports on each storage
controller--Active-Passive, Link Aggregation Dynamic Mode (LACP), or Adaptive Load Balancing (ALB) bonding. The
simplest solution, the Active-Passive bonding, utilizes only one of the available network ports per controller. The most
complex solution, the LACP (802.3ad) bonding, delivers bandwidth aggregation and redundancy across both controller
network ports but requires additional switch configurations such as IRF trunking. The preferred and recommended
bonding mode is ALB, where the network ports may be connected to different switches, therefore, support switch
failover. 

 

QUESTION 5

Refer to the exhibit. 

A customer complains of poor performance on an HPE MSA 2040 storage array. The storage administrator thinks that
the host ports could be limiting factor because only two ports are connected to the SAN fabric. To verify this the
administrator wants to use the performance monitor of the MSA system, but has never used this monitor before. The
administrator logs on to a HPE MSA 2040 in the lab to get familiar with performance monitoring. 

Which value would indicate a host port performance issue? 

A. Read Response 

B. IOPS 
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C. B/s 

D. Queue Depth 

Correct Answer: A 

Latest HPE0-J50 Dumps HPE0-J50 Study Guide HPE0-J50 Exam Questions

Powered by TCPDF (www.tcpdf.org)

Latest HPE0-J50 Dumps | HPE0-J50 Study Guide | HPE0-J50 Exam Questions                                4 / 4

https://www.geekcert.com/hpe0-j50.html
https://www.geekcert.com/hpe0-j50.html
https://www.geekcert.com/hpe0-j50.html
http://www.tcpdf.org
https://www.geekcert.com/hpe0-j50.html
https://www.geekcert.com/hpe0-j50.html
https://www.geekcert.com/hpe0-j50.html

